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Understanding 
performance 
in the round



24 March, 2022

Complexity



Our challenge
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Getting to 
the why
behind 

the what 
of ROI
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Our integrated approach to evaluation

ROICreative Reach Attention Cost



Testing 6” non-skippable vs 20” Skippable 

Cost/1k

impressions (CPM)

Cost/1k

completed Views

Excluded
Control
Test 1
Test 2

Relative costs 
per 000 and 

reported views 
suggest that 6” 
are more cost 
efficient than 

20” BUT…



The Attentive CPM is different with costs per 
thousand second views being much lower
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The total number of seconds 
viewed on 20s ads were higher, 

despite the option to skip

20s ads had 2.4M 
completed views (40% 

of total views)

Cost/1k Imressions (CPM)

CPM



We used a control & expose approach to 
understand the commercial impact (ROI)

20" 6"

ROI

We 
understand 

why 

Test design



Not all that glitters is golden





We were able to measure the cost of incremental reach across 
different platforms …
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Then identify the point at which BVOD becomes more efficient at 
driving reach and reflected in our reach curve sims….
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And then, simply by changing the 
assumptions we can recalculate the 
pivot point… such as applying 10% 
inflation
















